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14a (2 mwn) 2 15a (75220 7177 N7 NITD))

Note: 19xn77 WN 11wpw 73, a contemporary of i 58251 “1(c. 30 CE), although only mentioned once in the mywn, was
considered to be an expert in issues relating to the v7pp

npN? D7 M. 273 NV D222 PO PTII 0321 °PIWD DD IRYN) YIYD 0PI 0WrWn D2 RAYD HY 100D M)
42,07,02 712703 :17P7) TY RNDV? NTIN NI YIIN) 1TI2 DI NTIN M NI 023D
23,1 097 39N NZNT KDY NHNINY MPIR NNIN 1O NF 92

RN MLR NIPOR? D72V P2 NAIN DR IDR NP :NIPYVR? NN NR IYNI 121 P32 DHD NIVR IR YYY VoM
1,5 mow ;0N ‘N N9
&3, mpw $IRTY? 212 NRN DNITY 0PI NRPN ‘N 2197 I3 TV 2791 112 1IOR INR 7122 DY YY IWYR N2I27 YInn Tyin Ynka

L ‘2 mwn: the “practice” of the 5y 113 during 7 days of sequestration
a. mnay 010 N>, burning the nmop, cleaning out and relighting the nan, offering head&leg of Tnn
b.  Rest of year: may “seize” any nTay (usurping ar ma of the day)
II.  Authorship of our mwn
a. Not y7.if a v receives nrtn, he becomes RNV (3”3 receives nXktn each day), as per v. la:
i.  Nnva Sy 1w if kY, becomes NNY; if 1NV, becomes RNV (17Y NRNIV)
1. Intent: of v. 2 (hard to fathom)
ii. p'mom: teaches that Nkt must be done only on receptacles of nkmv (not e.g. live animals)
1. Therefore: if done on non-receptacles, water is invalidated on account of narYn
2. V2:if receiving nrr, pure; if touching (as per v. 1b), impure
a. Challenge: v. 1b states ntn is Xnv
b. Answer: nmn (there) = carrying; called nn to teach that in order to
become &nv, need nkrn MYV (enough to reach leaves of hyssop)
i. All agree: that minimum amount is needed in *93 (even
according to those who don’t require amount to reach 1nv’n)
b.  »anx: could be ™ — each day, does nmay then receives nxtn at end of day (& immediately 5210)
III.  Order of nT1ay: nMvp then M
a.  Challenge (2:77,8:1 7pn): order inverted (for lottery)
i. Answer: author of 70NN 970 is NAXNN YR 11YNWY 1 (see note)
ii. Rejection: 1ynw " disagrees with Rin of Tnnn 970 re: amount of ninn (2/4 vs. 3/4) of Pnn
b. Rather: our mwn is NaxNn VIR YNV "3
i. Challenge: within 811 770 (2:0 ,R:1 TN NYawn are adopted into »-1:2 RNY)
ii.  Amnswerl (»a8): our mwn (NMop first) refers to final 2 m7y; later nwn refers to first 5 mm
1. Challenge: »ar has 5/2 divided with Tnnn o7, not nvp
2. Answer: »aR’s tradition follows %Rw Rar — (all) mA1 precede nop
a.  Sww xan v.3b — n then mop’ (unlike afternoon: v. 4 — 1MR)
b.  pom mvop’ >when lighting mA3, nmop should be burning (as in afternoon)
iii. Asnwer2 (97): our mwn ( NNYP first) is 1327; later n1wn is HINY Rar
1. Challenge: 7:3 nywn — nmop first (order is 11279>5RW RIRD1277?)
2. 97 confirmed (order is “sandwiched”)
c.  Justification: of positions:
i. »an is uncomfortable with “zig-zag” order of authorities
ii. 9”7 is uncomfortable with “zig-zag” from 5 m to 2
1. »an first general presentation — later on, details given
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